layer 1
head O:
block match, reps: 3, step size: 1, offset: 0, from:
['indices']
tokens| [(lala|(|(]a])]|a])])
balance O |1|1]1(2]|2]|2(-1[-1]-1]-2]|-2
max_debt_0]0|0[0(0]|0]|0|-1]-1[-1]-2]-2
layer 2
head O:
block match, reps: 3, step size: 3, offset: 0, from:
['indices']
balance O [1]|1|1]|2{2]|2]-1|-1|-1]-2(-2
max_debt_0|0[0[0]|0[0|0O|-1]-1]-1]-2(-2

balance 1 |2

max_debt_1]0

layer 3

head O:

block match, reps: 3, step size: 9, offset: 0, from:

['indices']

balance 1 |2

2(212(212(2]2(-2]-2

max_debt_1|0

010(0]0]0{0]0]-2|-2

balance 2 |0

max_debt_2|0

layer 4

head O:
block match, reps: 3, step size: 27, offset: 0, from:
['indices']

balance 2 (0

0

010(0]0]0{0]0]0|0

max_debt_2|0

0

010(0]0]0{0]0]0|0

balance_ 3

max_debt_3

Feed Forward

balance_3

max_debt_3

res|T




